
Belső használatra !

M6x16 Df csavar
2001-042

6156-163739

I.

3490-002A6

7 1982-019

2001-065
M8x25 Hlf csavar

2002-007
M8 Hl anya

366156-1635

8400-091C 1

89900-249A

2001-180
M6x10 Hf bkny csavar

Product.: Lang

III.

38 6156-1637

M6x16 Df csavar
2001-042

M5x8 Sf csavar

M5x6 Bkny
 hernyócsavar

9

III.

5025-003A

2001-017

2001-015

37 8700-050C

K1266A Alicante Sa
1. Seite

3

4

I.

M5x6 Hernyócsavar

5121-306

2001-015

5131-001B

3

6536-001A

5131-001B

5135-085B
II.

5

2

M5x6 Hernyócsavar
2001-015

II.

7911-527B42

9900-247E40

417911-526B

5600-052 10



Product.: Lang

Belső használatra !

21

5833-012 16

5311-144

13

12

5611-048 11

15

16

5540-087A

17

18

145311-14317

18 1982-001 1982-001

1982-011

1982-011

5833-012

5611-049

5633-029B

226611-099
20 6611-100

21 6611-097A

6611-10020

M5 Acél alátét
2003-003

2002-003
M5 Hl anyaM5 Acél alátét

2003-003

M6x16 Df csavar
2001-042

M6 Íves alátét
2003-020

M5x16 Hlf csavar
2001-106

M5x15
Hernyócsavar

2001-015

M8 Anya
2002-007

2. Seite
K1266A Alicante Sa



Product.: Lang

Belső használatra !

Feuerraumauskleidung
(9900-406)

6081-153C         2 Stück
6081-154C         4 Stück
6081-157A         1 Stück
6081-158A         1 Stück
6081-162A         2 Stück
6081-260            1 Stück
6081-335            1 Stück
6081-336            1 Stück

1. 15.
Reihenfolge:

Lage des Feuerablenkrahmen

32

3128

27

26

27 28

6081-162A

6081-154C27306081-336

6081-153C

29

6081-260

6081-158A

25

24

6.

5.

4.

3.

6081-335

6081-154C

6081-157A23

26

27

7.

1.

13.

9.

10.12.
11.

2.

14.

8.

15.

5490-019

4725-063

6081-162A

3. Seite
K1266A Alicante Sa



Product.: Lang

4. Seite
Belső használatra !

4111-001 33

341982-019

2001-065
M8x25 Hlf csavar

2002-007
M8 Hl anya

3490-002A67 1982-019

2001-065
M8x25 Hlf csavar

2002-007
M8 Hl anya

4111-016 35

6156-1636 43

K1266A Alicante Sa


